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QUESTION 1

A customer has asked for a five-node search head cluster (SHC), but does not have the storage budget to use a
replication factor greater than 2. They would like to understand what might happen in terms of the users\\' ability to view
historic scheduled search results if they log onto a search head which doesn\\'t contain one of the 2 copies of a given
search artifact.

Which of the following statements best describes what would happen in this scenario?

A. The search head that the user has logged onto will proxy the required artifact over to itself from a search head that
currently holds a copy. A copy will also be replicated from that search head permanently, so it is available for future

use.

B. Because the dispatch folder containing the search results is not present on the search head, the user will not be able
to view the search results.

C. The user will not be able to see the results of the search until one of the search heads is restarted, forcing
synchronization of all dispatched artifacts across all search heads.

D. The user will not be able to see the results of the search until the Splunk administrator issues the apply shcluster-
bundle command on the search head deployer, forcing synchronization of all dispatched artifacts across all search
heads.

Correct Answer: A

QUESTION 2

Where are Splunk Data Model Acceleration (DMA) summaries stored?

A. In tstatsHomePath

B. In the .tsidx files.

C. In summaryHomePath

D. In journal.gz

Correct Answer: A

Reference: https://docs.splunk.com/Documentation/Splunk/8.1.0/Knowledge/

Acceleratedatamodels#:.~:text=Splunk%?20software%20creates%20ad%20hoc,your%20indexes%
20alongside%20index%20buckets

QUESTION 3

A Splunk Index cluster is being installed and the indexers need to be configured with a license master. After the
customer provides the name of the license master, what is the next step?

A. Enter the license master configuration via Splunk web on each indexer before disabling Splunk web.

B. Update /opt/splunk/etc/master-apps/_cluster/default/server.conf on the cluster master and apply a cluster bundle.
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C. Update the Splunk PS base config license app and copy to each indexer.
D. Update the Splunk PS base config license app and deploy via the cluster master.

Correct Answer: C

QUESTION 4

A non-ES customer has a concern about data availability during a disaster recovery event. Which of the following
Splunk Validated Architectures (SVAs) would be recommended for that use case?

A. Topology Category Code: M4
B. Topology Category Code: M14
C. Topology Category Code: C13
D. Topology Category Code: C3
Correct Answer: B

Reference: https://www.splunk.com/pdfs/technical-briefs/splunk-validated-architectures.pdf (21)

QUESTION 5

Which of the following server.conf stanzas indicates the Indexer Discovery feature has not been fully configured (restart
pending) on the Master Node?

[indexer discovery]
passdSymmFey = 573EcMI111u3lE20 buildoVedd+mvieyCRRvekf22EaVEETadDcZ6d TCnLY1ER
H [clustering]
mode = master
rassdSymmEey = £75t¥THzke4lr+3DULTHHDUTmYOEAtZIPxm2 1 XwMARrJEZ0jemicpSCinil
& [irdexer discovery]
passd4sSymmfey = idzxdiscovery
D .
[clustering]
mode = Iforwarder
pacsdsymmFey — (TFPUSSEHwWEIVeIUIADYGINOUrdscRh83ssC2pEpwESE3gno0iNFOsdg=—=
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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Reference: https://docs.splunk.com/Documentation/Splunk/8.1.0/Indexer/indexerdiscovery
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